Homework assignment Number 13 due Monday, November 29
1.  Construct the six vertex subgraph used to represent a clause in the reduction of 3-CNF SAT to directed Hamilton Circuit Problem.  Give a convincing argument that if the subgraph is entered by an arc of a Hamilton circuit, the circuit must leave by the corresponding exit arc.
2.  If there is a polynomial time reduction of Problem A to Problem B what can be said about the difficulty of 
(a) Problem A if Problem B is NP-complete,

(b) Problem B is Problem A is NP complete.

3.  9.3.4
4.  9.3.5

